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. The figures in the margin indicate full marks
for the questlons

.. Answer the followmg questions : - 1x5=5

(a) What are the three terminal of the P type -
~ ~ MOSFET ? 1

| () The Propagation Constant y= ¢ + JB Name |
the constants a and p. 1

(c) - Write down the expression relatmg phase
“angle and wavelength of a transmission line.

1
. (d) What does reflections occur in a transmission

line ? 1
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2. Answer any five of the followmg

Differentiate between D-MOSFET and E- -
'MOSFET. . I

@

(b)

- (©

@

(e

®

.. (8)

A 100 MHz signal is passed over a wire of
: _length 1 mm. Does this situation fulfills the
- criteria. for transmission line? = 1

2x5‘10

Draw the blockm&dnagram of a voltage

~ controlled oscillator and also draw the output .
waveforms of the osclllator 2 -

_'What is frequency stability of an oscnllator ?

Explain its significance. 2

‘Draw. the equivalent circuit dlagmm of a |
' transmlsslon lme segment. - 2

Derive the Barkhausen criterion reqmred for
sinusoidal oscillation to be sustained with
the help of block diagram of an oscillator.

A 500 Watf carrier wave is amplitude
j modulated to a depth of 60% Find out the
. total in the wave. = 2

A phase shift oscillator is operating at

fo = 10 KHz with R = 200 kQ. Calculate the
value .of capacitance C of-an R-C bridge

circuit, : . 2
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3. Answer any five of the following :

(@

(b)

5x5=25
Why noise appear in frequency modulation ?-
What are the pre-emphasis and de-emphasis

process and how it works in reducing the
noise ? ~ - 5

Realize 1he following logic operatlons using

- only NOR gates : | 3

©
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@

() AND (i) OR (iii) NAND:

. Draw the circuit diagram of the JK master-

slave flip-flop and its truth table. Use it to
obtain the output for the following signal :

Bunld a 4-bit binary npple up-counter usmg |
T-type flip-flops. and show its -count-up -

. sequence. e .5
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(e fat?ite the relation between Standing wavé (¢) Define modulation index, ﬁ-equ‘eﬁcy spectrum
. o and reflection coefficien and bandwidth of a | -
o L TV ciet. .. . 5 a frequency modulated
@ Di the ‘terrir i wave. What are advantages of FM over
" line in three differ;t?a;f a u'aDSm1$51o;1 AM? 8+2=10
(i) Short circuited (@) . ()" Draw the circuit diagram of a first-
(i) Open circuited and oyder.hxigh-pass'IStutterworgh filter and '
i L ond h - ' explain its operation from the voltage
. (iii) Load impedance equal to gy . ain of the filter. | -
- impedance . mcmctmc (ii) : K .
' o ii) Draw the circuit diagram of Wien
(g Draw DTL circuit as NAND gate ne 4« < " i s .
| its working, : NAN gate and explai oscillator and explain.its opemtslzlsl;lo
AngWet any four of the following : l o () Design a mod-5 synchronous counter
(a) Derive the expressi o 0x4=40 systematically using J-K flip flops. -~ 10
e c Ae €Xpression forammiSS_ . ‘ : 4 .
‘ ml?edance and show that impedap, lon ll.ne | '
point to point along the line. Show t‘;;tv.anes
impedance on a line for repeats ey, input .
wavelength. ' '4+4¢iyzhalf .
IR A
(b) - Discuss why impedance matching is requi
for a transmission line. Establish a relatjo;
. ) . n
between stub line length and transmission
¥me length required for proper matching of
impedance. Why short circuiteg stub s
Pl'eferrgd over &N open circuited syl . is
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